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CPV CODE Uqpurtrpfr rutllrutrnulP

9Lduilr
&L

(Ettlnurg

ur\uFqE

?unir. il|tuttl
'Ilurhurtr2.
purbur\

uh*rl.
eftp( zz

4FutI)

Qnuiurpp (

22 t1puil)

Flitrq hL r.Iu r lrurn | 850 400 740000

091 :l2l00i 1 itbhqhh u'u r huln 350 390 1 36500

09411700/1 Uhnrftlurb phtuturh qurq q2 bo 9000 324 2925000

uu huln 20 1250 25000
4811300

quph finrh =4 bq 30 3000 90000

tq I 8000 8000
5623000

7t lrrrn uu to 50 400 20000

I n*1 Orl uu !q ,2 3500 7000

Strurhuutburtr dhnhng UU qnllg 39 300 53100

uu qnllq 101 300 30300
18141100/1 uu qnllq 46 300 13800
1874L100/2 uu hruur 8 7000 56000
18318200 uu hunn 4 7000 28000

18318200/l
UU huln 2 7000 14000

18318200/2 fuulurp

18318200/3 fuurltup uu hurtn 7000 14000

18318200/4 ruurlurp UU hunn 7000 21000

18421140 Chntulrg uu urnuh t2 6000 138000

22820000 hrrrhorrrnhn uu huu 1000 5 s000

2282000011 Unttnph onnhn uu hurur 400 2000

2281 1 130

2281 1 1 10

SLrnn uu hu-nn ) 1500 7500

Qpruutblur\urlbqShp UU huln 31 600 18600

uu huln I 1500 1500
22811110/r

2281111012
qhpp/htp. lt .it!fqP.g[/ UU hurtn 2 rs00 3000

uu hunn 1500 3000
2287111013

Orrlllhll t.t'u hutn 200 5 1000
228r I 1 90 uu hruur z 300 600
2281 150

-'l'rrthtr trrrrhnrrf tq 0,5 2000 1000
24311440

'ihLphttpln
q2 5 5000 25000

qz 10 3000 30000
24327100 q2 Uq I 1 500 1500

bnhuro bbdpruPrlru\uh
Shtrth untr$uln

q2 Uq 3 r000 3000
24311420 q2 \q 0,5 2400 1200

230

24321660
qz \q z 1000 2000

2432 230
q2 2 2000 4000

qz tq 10,3 2s00 l)/)v
24317r14

\4 llq I
I,O

2000 2000
243t1114/1 uoupuquru ppn

1500 2400
Ur.InLhntdh ptnnhrt qz Uq

24321440
q2 Uq 1500 1s00

qz tq J 1000 3000
24321440/r 9urourluurppnl urung.

24321650 a1|rghp|h qz Lq I)UU 6000

sz 193 1500 289500
24322220

r Trrrh 5 1000 5000
2432222011

Farrrl qz t42 1500 213000
24321340

Lphlrughuuru
25,5 r500 38250

24321820
30,s 1200 36600

24321550 Uoturnh



24321330 uh qz l0 1800 18000

qz 30 1300 39000
24321810 qz 1 3000 3000

2432181011 f lullull,llru
1,4 4hoPuuth

q2 2 4000 8000
24321580 uu tq 2 20000 40000
24951.480 uul9!19

uu tq 40 10100 404000
24951320

2ur\ruuurnh) htqntll
Zurzrlhl
nhuflr

ITIT hruur 6 3000 18000
24951320/1 uu hurut 4 7000 28000
30141200 uu huru 6 200 1200
30192100 uu hurur 223 r20 26760
30192121 tullrquqrrlr \+lrlr2 5uln.

q UU hunn 40 120 4800
3019212r/r uu hunn 42 r20 5040
30192121/2

Uurn\tP qnttrurlnP
UurF\tn ulrlurtnt .- - .

Guhn-qputurutlumuuh(uh,turndhp'turqn.ttn)
Vullntttdurul@

UU hurur 45 210 9450
30192125 uu huln 49 660 32340

30192125/1 UU hurur 300 600
30r9212s/2 uu hunn 16 500 8000
30192910 uu huru 6 300 1800

30192910/1 atu)rILu uuu{uquu
gr4lnth durqur$tr uu hurtn 8 350 2800

30192910/2 uu hurut 80 100 8000
30192130 u uullrur

uu huln 22 250 5500
30192160 uu huln 30 250 7s00
30192710 ul

Ulln> UU hurur 18 300 5400
30192231 uu hunn 12 500 6000

3019223r/1
U\nt prt uu huln 5 350 1750

3019223112 uu hunn J 500 1500
3019223r/3 u qrr) lorl

fanqp U4 uu rnnuh t40 2000 280000
30192740 uu hurur 200 1400
30792760

fin\Lnu uu hunn 2 1500 3000
30r96100 uu rnnuh 24 350 8400
30197100 tllr) lr

UU urnuh 30 300 sooo
30197100/1 q"dqurd

@ F!',on*Ul'Fp",tl.9g'I .

UU urnuh 1 270 aan

30197120 uu hurur 28 800 22400
30197210 uu hunn 20 700 14000

30197210/r ldnmututrtllull un9[u (rorllcultlr ulruH'{"'* "* "'t*n**t"'t' ---
Gnfn- uu hruur 5 200 1000

30t97231 'ITTT urnrrh 42 250 10500
30L97221 r^urruu rgjyfSljgl__

UrIpurU (rlhururqtur) Uthqu uu tnnr{t 4 400 1600
30797221/1 uu hurn 5 200 1000
30197230 rql|Btuu.l

KA 
' 
fhlrnnt uu untrh 36 1000 36000

30197231
q"rhUUn"+tt pur4urtrp (S!t{Df\"tq*"*!b-h*'I*D uu hurur 10 20 200

3019723r/2 uu hurur 92 100 9200
30197232 ul ruquq ql r

uu hurur J 1800 5400
30197320 Ill uu hurur J 1600 4800

30197320/r ITIT hurtn 3 270 810
30197340 uuuqulllrr

uu untth 1000 1000
30199230 uu urnr-th 1 1200 1200

3019923011 vllulll lJ a4Juu

Onrunl75'225rItI
Onurn

flnqp U4 hhPhP\qlntL , .

uu tnmth 1 1400 1400
30199230/2 ITTT rnnrth I 1300 1300
30199230/3 UU tnnuh I 4000 4000
30199410 uu huru/lO0ntnn 70 250 17500
30199430 uu hunn tn 300 6000
30192780

9Frugntlg
OurtttufahPh4
rhunur\ur2urP

uu huru 4 1000 4000
30199792 UU hruur 22 800 17600
30192790 UU huln 1 5000 5000
30193200 uu hurtn 5500 5500
30195931 qz hurur 250000 250000
30211190 LJ'UAUUqUU uuuur{wlrYlrl

Zullurllurng)urthtr rlnbhumn

'!l ntnrut lrn hunft ut urPqh)
T.tnht

9nht
Zullurturnqrurthh nt nt

uuuhu

.t4 hurur I 52000 52000
30237490 .+L hunn I 320000 320000
30211200 qt hunn 3 8000 18000
30236190 q2 hurtn 2 6000 12000

30236190/l qz hurtn 1 207000 207000
30237r12 q2 hurur I 4000 4000
30237412 o-t hurur I 6000 6000
30237460 q2 hurtn 10 r00 3000
30234300 u u uq ulluq

r(1n p11r,tr.\ t_ru hurur 40 700 28000
:i1221200 ull htn.ur 13 600 7',200

3121 1 180 Lrtr9ttl ull r)

UtrluLnhr uu htu.tn 5 2200 1 1000
31211 lB0/l uu hurn 2 5500 1 1000

31 2l 1 18012



3121 1 18013 [.Ll-rsruu.lr) tJ'u hruu e 7500 15000

3t221242 tnu:Lr ttu hurn 10 70 700

31331 1 r0 htLtrnnur\trLh I ut (2x1,5fri) t_Iu t[hurrr 100 150 1s000

31331280 [:r hhurnu.rburl tun (2x2.5{d) UU rfttntr t22 300 36600

31300000 LIulnrlu uu t[hrrrp 100 600 6000

31300000| Uulnr..lrr tlu rJhurn 20 2000 40000

31442110 [-Itupur\ng u'u hurn I 33600 33600

31531210 I.unful - 100W uu hurtn 30 600 18000

3151 2210/1 I.ullur - l50W uu htun 50 100 5000

31531500 Shtrhhur thtr lturful 60ur"[ UU hurn )2 850 M200

3r _531600 $hrrlihruthh turfu] l 20ud uu htuu 10 750 7500

3165II00 UhLnrtrhl duruturtl litr .tr lru:tn 21 600 I 2600

31 681 120 [:t h hurnuburl.r tqndr,r.l
q.2 hurur 500000 500000

31683100 bnturnurqilurh lurn /2fl hurur 2000 4000

31683400 bnurl:ru2lulrr htu.ut :) 60 300

31683400/1 bnupmzluh) "1. L hurn 7 2500 17500

316ti3400/2 L-rrupu,r 2lrr lrr'25-20' 25 q,z hurm.
,)

700 1400

3 1 686000 fupng.; huru. 5 300 r500

3168600011 Iultno hruur 350 350

31 681700 I:rurdurLnrnurn mnnlr hurur 2000 2000

31 67 1400 th.ur"u ru{rnnrlttnn pli nhf rl hur.rn 4968150 49681 50

3t 71 1250 fuun ntlurl.l rJu hurrn 30 300 9000

i\1711250/l lunqnrlu-rt1 uu rlhurrr 28 300 8400

317112502 dlrnlh lunrtniltutt ttu hu:u t2 1400 16800

317r 125013 tunnndur! 25titi iJ'u dhurn 10 550 5500

31711250i4 Iun.rt n rlur h i_fu fhtnn 700 8400

il17112s0i5 furu1n.{ttr\ UU ilhuur 110 450 49500

31717250/6 lunqrLlur\ rJu hunn 1 2300 2300

i\1711250/7 IunnnilurL t.iu hurtn r4 s000 20000

317112508 dlt. fun.nntlur\ uu hutn. 2 I 400 2800

3171125019 funnnr.ltuh u"u rlhurn 3 200 600

33141 1 14 rauLqh{ uu ilhrnn 160 500 80000

33141115 trulipur\ uu hq 8 3000 24000

33141 1 15/1 trullpurtt uu tq 15 3000 45000

33147115/2 trulfpq\ uu hrurn 110 200 22000

33141116 trhlln UU hurtn 100 270 27000

33191310 9ntnru uu huln 4 1500 6000

33191310/l Irn1pur uu huln t2 800 9600

33191310/2 9n1pur UU hurur 10 800 8000

33191310 trurdurt uu hunn 4 500 2000

33191310/1 Frudurlt uu hurtn 1000 4000

33191310/2 trudurlr uu hunn 2 1000 2000

33191316 Uhtrqntnttur500Ul uu hurur I 3000 3000

331913161/1 UhLonrnbur250tlt uu hunn J 2000 6000

33191314 2ursurn d=lotlil uu hunn 4 r200 4800

33191314/1 Curqurn d=&If uu hurur 6 1200 7200

33191314/2 Cursurn d=10ftiil UU hurur l1 1000 11000

331913r4/3 9urqurnd=2Oftru uu hunn ) 2000 10000

33t9r3rA4 9urqurn purdurtrh) uu hunn 2 3000 6000

33191314/5 truqrup purdurqbl uu hurur 2 4000 8000

33191310 OnpArufunp uu hurur 1000 7 7000

33191310/1 Onn&urlmp uu huln s00 24 12000

33191310/2 (Dnnd,urbnp uu hurur 100 100 10000

33191310/3 OnnAurtrnB uu huln 6 400 2400

33191310/4 Onpdulqqp uu hunn 6 500 3000

33r91318 2urluhq uu hunn z 1500 3000

33611430 9rurhnrilh nnhut qz Irc 0,5 45000 22500

33611430/1 Qurrhnulh tnnhut q2 q 100 50 5000

33651110 uttulhghft! =4 hunn l0 90 900

33651316 trurhuilfgfir qz hurur ) 180 900

33671 135 hurtqhnlilh ptnnh4 qt urnuh 1100 6600

33671135/r burrohmrJh prnnhn g2 rnntrh,/unftu.l0 3 360 1080

33691142 UtBhrhh Drnnhn sz 4 2500 10000

33691 145 Uurohtohnrilh urrl$uln q2 urnuh 3 380 1140

33691872 UqurF qz hurur 2 11000 22000

33698742 Uqurp utrfu4. =4 \q 2 s0000 100000



33691872/4 Uqurf-urqun qz \q 1,5 28000 42000

33691166 Curournurubhurrhh tpuurnubut :4 tq 1,5 35000 s2500

33691166/1 un@ huru I 35000 35000

3369rt66/3 Unqurtrfqb
q2 bq 2 28000 56000

3369271,0/r QrtntLnq
qt Uq J 1250 3750

336911,67 LC€ Bhphn SZ urmrh I 45000 45000

33691 145 u*q@ gz hq 1,5 2s00 3750

33691858 iin11. s2 o 100 50 s000

3369 846 L.lrilntrurpprrt- qz Ucl 1700 1700

ll36 380 Llr\nurlrlnup;ant qz ur:rlth
,) 800 1600

336 440 fdf rudlrtu .+2. rnnnlr 1000 1000

:J3761000 9nrqupurl-rlr pnulp u'u hurur 200 150 30000

33792000 Llnurnhurturturtr urqurU h uu unuh/50huru/ 4 650 2600

33792000/1 Llnurptururlluh urulu\b uu rnnuh/5OhurW 4 550 2200

33793000 OurEtuluurhh uu rnnulr/100h/ 8 500 4000

33793000/l Durbburuurth 18'18 uu hurur 1500 7500

33791300 Aturnhh puuh\ uu hruur 20 500 10000

33791300/l
,Tltrnnhh Buuht uu huln 30 250 7500

3431 1 1 60 U!{b}L! ! Lru .hulur 2 700 3400

34221260 €uuttuul Lru hurur 3 s00 4500

312',21260 ij,r.lrnnrfhBhtruth tnt.4 rJu rhurn 60 s00 90000

34221260/l lJ.{ urnrfLpLtr rullr prr4 ttu huu ,2 700 3400

'2'2 26012 Urlurnrfhphhuqlr lnrq uu, tirult 20 5000 1 00000

'-14221260,',3 I Irlr rrnr Ihnhlttrttlr u'u l'rn1r 20 3500 70000

31221260i4 l-LltnrrdlipLhurtlr ln.rn tiu lrurlr I 0500 1 0500

31221260i5 Ur] tmr r"[h p htrurth tnu UU ;lrrnp 20 l 300 26000

31321121 rnrlth qurh) rJu htun 6 3000 18000

343',21121/1 ll UU huu 4000 20000

34321 1 30 runohrur!t[Llh \dqu11 uu hud. .4 3500 14000

342',2t230 [Jncrhturtrf uth htrtn rl.l tJu t'tulU1 10 1000 10000

:]435 i 200 | [,lr rr rrr f l. nl;l r r r rl r L rrh rulr]rrltrlirr t"ru hmur 25000 s0000

3435.1200r'1 ULlurr-rtfbphhurtrhrrh rutrlr{hhn uu htuur 25000 l 00000

34:.5t200/') ll, nLtrrrrlrLnh rrrlrlrtllrh r.Ju hurm A 25000 100000

351 390 9nqfunq uu hunn ? 4500 9000

384 1200 Qhnilurrulh uu hunn I 3500 3s00

38411600 PH dtrnn uu huln 1 220000 220000

38511220 Uurbnrunhururll UU hurtn I 400000 400000

39292500 €rnbntr murhurboht s2 hunn 3 200 600

3924126 Ihhhth o.t hurur 2 4000 8000

39241210 U!fluu q2 huln 11 s00 ))UU

39221,420 tunqurhu[$4ppl sz huru JI 500 18500

39221420/r hrnnrrrlrr rr h /r fhohh/ qz hurn 15 550 8250

39221312 9urrauu qz hunn 2000 6000

3922131,2/1 \urpuu q2 hurur 2 2000 4000

3922142012 tunqtutrur\4[bb4 sz hurur 9 1000 9000

ih nl uu prl 33 5s00 181s00

3971 1 I 10 Uruntrurpurtr
qz hurn I 80000 80000

3983124s )Lnnr h nX ITTT ruln/300-50ftI 155 s00 77500

2hnnrll odurn uu 27 500 3500
39831245/r
39831247 Ulurnurhrutrna\41p!P uu huln 99 300 29700

39831270 TftrrnrI uu hurur 90 250 22500

Urlnr-bg rlhrn uu hurtn 25 180 4500

uu hurur J) 800 28000
39831283

fiu{tt UU lhurn 188 200 37600

uu hunn f 500 2500
39831242

'1"'nrfrrrh hlnnrh uu hunn/500tlt/ 224 500 112000
39831278

Uulurup 1qurgrlSq hqnq uu 2 500 1000

1000
?qR! 278/1

39831280 Urqurlh rfurp[hlnt rlhong
gurhntlB ilrupptln lurp

uu hurur 1000

uu hunn 10 900 9000
39831282

39836000 u{tr uu hurtn lf 800 12000

39839100 Urlht qnquphn{ uu huln 1 4000 4000

34921440 Unnullurh uu hurur I 1600 1600

42131100 rlrurhtuh tru htun r0 3800 38000

421:lr r00/l tlrultluh qLLr tIIJ h.rurn l0 1000 r0000

421'311002 tDrullrul uu hutn. I 9.100 18800

42131490 Uh$nl: TJ'U hurur 8 1000 8000

421 31330 Ou ! urtr |uplurhurlttlr uu htuut 2 2s0 500



$nrl uu hurut 6 350 21 00
44163420

44t91700 ()u.rr nrrrL r.rt t,'trn trr.Qh lr,/ tiu hutur + 200 800

41191700i1 Otu11t tutl trr 1,'otrr trr ct, p, t-f Lt hurm 5 350 1750

Uurlpur \ ur1r2tnnrghp'r UU hurn :l s50 I 650

44191700/:) ()ur 1;rur llur li2urn lqLPr' I.III hum 1000 1000

4419 700/4
uu huru 5 r 200 6000

u'u lruru 30 50 1500
AA 9 700t5

lIfucrnr.L[ tltr huntr 7 lB00 12600

UU httrur l0 450 4500
qi 9 700i7

ULqntd UU nultn 6 1000 6000

Lflt h.ruur 5 600 3000
441 9 r 700/9 tt nprlp

uu hurn 4 400 1600
AA 91700t 0

uttbp\lilqq\g u'u hutn 2 1 000 2000

LIU htuur :]500 :t500
44 9 700,

,)

(,r.urlruul UL], nuttn 2300 2300

UU hurut r 200 1 200
44 9 700t 4

(rru rllrrt{l titi hurm 650 650

uu, Iruru 1700 1 700
14 9 700i16 FurLtLtllr

tJ'u hurtn 6 2000 12000
441 921 00

44211610
t tiu hutur 30 50 I 500

tiLt pf 2.25 44500 100125
44221140

afr r UU prt 6 42000 252000
4422114011 ull prf 20 2s000 500000
442 1100

fTh rl th UU, hrurn ll 500 5500
44221111

4441 I 100 Unnurll tJ'I.I htuur 6 4800 28800

.144] 1100r'1 Orrlrurll TI I.I htlur 6 6000 36000

1441 I 300 Ldur<trtrnurL tiu hutut 2 6500 1:1000

11411210 [htrurtr UU ]rurtn. 1 500 1 500

uu lruru r30 2800 67'200
"l+52 I200

UU hurrn IO 800 8000
44521200/l

rrrL',tr uu huln 6 6000 36000
44527170

l=lr uu hunn I 1200 1200
4452117011

ULI mntth 500 3500
44521210

( I11 n pnt uu r,nnlth I 750 750
4 t521 )4(:t/

Uptnurplnt2t
ururlfrtt

rilr2nghhp

Uqpubphhp

lr lrr qz rhuln 24000 250 6000000
15511300

qurph q"tZh qz tq 200 3000 400000
1551 1700 uu qnLlq 10 300 3000

18141 100/l JUTIIEUUUUU qurrur!]

'IInt htpht htrultlrtr rlrurptpl\! uu hrutn 20000 4 80000
19641000 uu hurtn 15000 J 45000

19641000/1 'TInl hkph ttrruthtr +urPhP6'7utl
n -,Lk!.' l-1"'rr!'t' arrrnrrrlra uu ttq 150 1100 165000

19642700
'Tlhurur! uu hurur 200000 I 800000

22451300 qz hruur/1OftIt/ I 3000 3000
24321690

Uqhnur
Srt'shnt'q

qz 1000 1000 1000000
24322220

YL tq 1000 750 750000
243216s0

sz trq 1000 700 700000
24311600

Uilntrhutrh tnlbnr"lp
Ourlluphphrt

uu 1200 1200
244t1300 uu huru 800 3200
30192790

IILI r.[htn r.r :10 700 21000
\t7 11250/4

h' frrrlr q2 hutn 600 40 24000
33141.129

l,ururpluu-rlfr plnp|4 qZ Uq 1q 2500 3750
33697227 gz tq u,) 1000 500
3369727/1 Luruplrnuifr plnn]rR

s2 .lq 100 30000 3000000
:]:169r 858

3nr1
qz hq 50 25000 r250000

llii69185Br'l
Ucr 50 25000 I 250000

3lt6l | 430i 1
-1Lrrl lrrrLtrlr Jrtrtlrur

Uurqtrhq|rnttflr unlQuln- tq 500 500 250000
33691 14s uu rhurratB 4 4000 16000
337613000 UPFF) ldrllou

UhBhtru
thnrlululh

,Tl1 ruunlrl; h Furdg!__
{lpruqttrl!_E4du!_-

hurn 12000000 12000000
341 1 I 130 uu hurur I 3500 3500
3841 1200 q2 hruu 130000 t2 1560000
392211301

s2 hurn 10000 11 110000
392211301/r



79)?4440/6 Chr luqubnd/ru t ururnht/ 1 hull. 1000 55 55000

39224440/7 CtrZtogr{@ qz hrutn 20000 40 800000

39224440/8 Chr luqurbnrl/ulruruurhtV q2 huru 2000 26 31200

392991 10 UqurUt up{ur\/l0tf1/ hurur 60000 28 1680000

39299110/1 Uruurth unrlurt/15ilt/ qz huru 20000 30 600000

3929911012 Uulurth uprlu\/25tI1l huln 20000 33 660000

3929911013 Uulur\h uprlut\/30{l qZ hrurn 50000 45,36 2268000

39299110/4 Uru urt b uprlurlq/50rI1/ qz huln 10000 40 400000

3929911015 Uuurlrh unrlurb/1 00ilt/ qz hurur 100000 47 4700000

39227420/l tunqurtrurb/rlhqhV q2 hruu 2 ))u 1 100

39221270 Ouru huln 1100 2200

39227180 tdhphqtru uliurVph4alr/ qz hurtn 2 20000 40000

3983 245 2tnntt odurn uu rurur/300-500tit 4 500 2000

39837247 Uluururhrutru trtntphn UU hurut 2 300 600

39831278 Uru urup 1 r] ugrfuttr hhqnt\ uu hulr/50OtJt/ l0 s00 5000

39831270 Uulnthq uu hurtn 6 250 1500

39831283 2uuru\[ 2np uu hruur 4 800 3200

39831270/1 Uulnthg rltrn uu hurtn l0 180 1800

39831284 durilhr uu rhtrln l0 200 2000

'2t3 0011 OuthurL ultrtr Lru irtlur 2 I 000 2000

4213 00i 3 ,l.rurh utlt riu htuut I 5000 5000

1212 150 'Il.nrltq rJu hun I 25000 25000

4112 700 Uptlqtip t.Ill hurm 5 2500 1 2s00

4461 460 tugq! YZ hurtn 20000 80000

44611460/1 fuqrutr hurtn 20000 6 120000

44611460/2 tuSqlt q2 hruur 1000 6 6000

44tt470 Urub\ trppurphPh4lr .+4 huln 120000 f 600000

4461 480 gulhunhl Uupnghln{ q2 hurtn 200000 ll 2200000

41611490 'Thururnhht Uurthurnhr huur 120000 5 600000

44611490/1 Yrg$urb)
qz hurur 20000 '7 140000

tahrlutnf\
rlhqnqhhn

1421 1 1 18 enrl uu uurnt 50 ls00 75000

18421 140 tbnbng UU nnuh J 6000 18000

22811130/4 Shutdqhnp/ uu hrurn 10 700 7000

2281 1 130 Sttnn UU hurur 2 1500 3000

2432181.0 9lnpnQnnri qz hq 5 4000 20000

21:t21810t1 *11npn{rnprl q: :1000 3000

24321580 'Ihkpltttpln o"t 4 5000 20000

2431 29 gurrhnuih hlt4popuf4 g2 tnm$ 4500 4500

2431 260 Lururnt-.rJh hh4noputq urnr-rh I 5500 5500

24311114/2 ObrinurLurh BBnt q2 untrh I 5s00 s500

2431111413 Obrlpurtruh ppnt Uq 1800 3600

24311480 gurr hnr-tfh q hnrlurhqurhurur rnnuh I 5500 5500

24311600/1 Fnpurppnl qt lrq I 2500 2500

24321340 hprutml sz 9 1500 13s00

24321100 2hpuruh qz 5 3000 15000

2432144012 €urgruluurppnt qz tq 3 1000 3000

24317260 Lururnhmrlh hhlnopuhn =4
hrurn 2 6000 12000

24321860 Uonrnuhurh BBnl tq z 1400 2800

243t7730 (rrrrrhnrrfh hhnnonuhl q2 hurut I s000 5000

33191310/5 (Dnptrurbnp hunn 1000 10 r0000

33191310/6
(Ttnn,\rrrl s2 huln 2000 6 12000

3361 1430 qurilut{htllhn sz Uq 0,7 45000 31500

33791300 'tlhuplrlr putult\ uu huln 40 500 20000

30192121
qnb uu hunn 10 t20 1200

30192740 On u4 uu urnuh 5 2000 10000

30192125 Uurnhtn qnttrunlnp uu huln 10 210 2100

3021 1 190 I LhAhurhuh hulftuturnohr q2 huln I 300000 300000

30237270 Zulftuhurnqrurthh ru urlntuurll q2 hrurn 15000 15000

331 1 1s00 Othhrl hnuut |rtralr\ uunPf Pn14P uu umrh 7 1500 10500



I;nr uu hunn 20 400 8000

33191310/4 9nlpur uu huru 20 900 18000

33191310/s Vnlpur uu hunn l0 1800 18000

33141182 nnllrrrrd TTIT hurur 20 1500 30000

Uhphrttr ptnnhrt o"t 5 1600 8000
33691142

3369116711 LC€ plrph4 q2 rnnrrh z 60000 120000

33691842 UnurBBrlh $hPuurtturt sz hunn 2 6000 12000

33691r4J. t rrrr nnhnr r lh nhnrrnr r.$rurrn q2 hurur I 6000 6000

[nburph h]lnpurn s2 hq 0,04 450000 18000
3369185s q2 rhurrahn 25000 25000

33691860/l
^l: uu hurur 1 600000 600000

.lurfunmrrf nnnrluh uurnp qz hurtn I 1300000 1300000
38591200

39298300 Ourntunlurh hurtn 10 5000 s0000

39298300/l Ourntullurh qz hurur 10 3500 35000

3929830012 Ourq\urilurtt huln l0 2400 24000

ounu3nhr€nh\,Lbl

eUS purdtrlr rahur'I. Qurur4urpturh

Snhur{urdurntrhpf h gmghurb4huhhpir \urqtiur\hpqilult


